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asym_bcm_an_us (ppb)
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asym_bcm_an_us RMS (ppm)
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asym_bcm_an_ds (ppb) 1D pull distribution

4000 X2/ ndf 9.914 /57
Mean 0.01279 + 0.05426
pO —49.18 + 222.8 30F
I StdDev  0.4132 +0.03837
3000 -
: Underflow 0
2000 251
[ ] | Overflow 0
1000 L4 "“ PYY . [ X2 ndf 3.347/1
[ 1 ] Py [ 1 ] [ ] [ T L
0 20 Constant 27.18 £5.26
* [ ] ¢0! L
(14 P [ ] L L Mean 0.01614 + 0.07530
—-1000 ® ® L
® ® P L Sigma 0.4316 + 0.0644
[ ] -
-2000 151
-3000 — -
- 10+
-4000 — L
5_
-IlllllllllllJ I|I kllllllllllll
2 4 6

0
8 6 4 2 0 8
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asym_bcm_an_ds3 (ppb) 1D pull distribution
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asym_bcm_dg_us RMS (ppm)
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asym_bcm_dg_ds RMS (ppm)
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diff_bpmE RMS (um)
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diff_bpm4aX (nm)
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1D pull distribution
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diff_bpm11X RMS (um)
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asym_atl2 RMS (ppm)
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